2.8.109 Solve the inequality and express the solution set in set-builder notation and interval notation, if
possible. Graph the solution set on a real number line.
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Express the solution set in set-builder notation. Select the correct choice below and fill in any
answer boxes in your choice.

FA L 167
The solution setis {x | x> ‘5- .

(Use integers or fractions for aﬁy numbers in the expression.)

i 'B. The solution is all real numbers.
iiC. The solution is the empty set.

Express the solution in interval notation. Select the correct choice below and fill in any answer
boxes in your choice.

K 16\
"~ The solution set is [*;,oo) .

(Type your answer in interval notation. Use integers or fractions for any numbers in the
expression.)

i7X B. The solution is the empty set.

Choose the graph of the inequality below.
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2.8.111 Solve the inequality and express the solution set in set-builder notation and interval notation, if
—~ possible. Graph the solution set on a real number line.
. ) x+8 x+2
+7> +6
4
Express the solutlon set in set—bullder notatlon Select the correct choice below and ﬁll in any
answer boxes in your choice.
‘A The solution setis {x | x< 28‘}
(Use integers or fractions for any numbers in the expression.)
:"iB. The solution is all real numbers.
“C. The solution is the empty set.
Express the solution in interval notation. Select the correct choice below and fill in any answer
boxes in your choice.
™A The solution set is (? 00,28)
(Type your answer in interval notation. Use integers or fractions for any numbers in the
expression.)
i iB. The solution is the empty set.
) Choose the graph of the inequality below.
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YOU ANSWERED: A, x<13 "\ I
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